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"." Honors Geometry Algebra Review

This assignment should be completed without the use of 3 caleutator - Except where specified. Leave all answersin
simplified radical form or improper fractions (no decimals). Answers are olso found below so you can check your work.

Solve,

Solve sach equation for the indicated variable.

4, Az%,farb 5. A=yr?, forr

3 by +
7. V:i}_g:_'-f(;rr 8 A=‘(—“é“i%)£,fﬂl"b;

Solve.
w0 E.m 11, %2
4 4 x
13, 4x—-2 =2_x : 14. x--2=2x+8
3 7 . 3 ox
Solve.

15, 7+8y>2y=-12 .16, 5-4y<37

Simplify the following expressions.

i 5 - ay*?

% 18, ?_3_ 19, (-—') -
7 . 3

* . \ 3

k ‘_ 5 8 3 302.’(

! Ca () 2 Taan

3_ Ex.].}lxggx.._z.
2 5 & 15

6. F = 2w+ 2, forw..

9, du=x +)2, fory

17. 6m-14>18-10m.

20. (x“_y3 )(x5y}

13
73, 12:1‘1;:?
18a" x

L b S s e v

LT A ATV TN




Muitiphy.

RV, 7 ) (.x+5} ( ) IS e e wzzsr,(gx_,g) ( 3x-7) __ s e g 25 (- !L) [x L e ‘.
27. (&x-6){2x+6) 28, {x+9) 28, (4x ‘*112

Factor (#30-38} and Solve (#39-47).

30. x* -49 oa; X% -64 : 32, ¥ -1

33. 40° —36 34. 134y% ~100 35,_1srf -8l

36, x* +8x+16 37. o +10a+25 38, n?— 2041 |
39. x* —14x+49=0 40, 16x° +24x4+9=0 41. 25x* -60x+36=0 |
42. ¥ +2x-35=0 43. x2f20x+64:0 44, x* +8x~48=0

45. 2% _12::—510:0 o R 48, 3x§+‘26x+15=p | 47, sf-mué-—;u '

Simplify each radical expression. * Leave your answers in 5implest radical formIH* {This means no decirnals and no
radicals in any deneminators)

48, 27 . 49, 48 50. /20 . 51, 18 . 52,4250
EEE 9 : 3 B 1

) fm 54, | — 55, = 56, ~re 57. ‘/ﬁ
R TR 32 BN ) 8

58, 1045 +345 59;. @,—JE | 60, (3J§)(7JE) | 61, [@(Jﬁ)

Soyf,

O



Solve by completing the squarg,

62, x* +8x—~17=0 83. X* —4x—16=0 64. x* +10x+18=0
Salve by the quadratic fermula.
65. 3% +8x +2=0 66, 55 +3x—16=0 67.3%% + Bx + 10 =0
For each of the followlng equations or inequalities: a} identify the slope "
b} identify the x- and y-intercept
c) graph
B8, y=x—2 89, 2x+4=y 70, Sy+2x=10
71, 2y-+4x=1314 72, 3y—4dx=9 73, x=4
4. y=-5 7% y23x+l 76. dy <Ex—8
77, 2y-3x512 78. 3x—6y>36

Find the slope of the Jine that passes through the following points.

78, (8, 8) & (-2, -4)

82. (3, 4) & (5, -8)

80.1-3,0} & (-3,5) 81. {5, 1) & (-1, 1}

Write the slope-intercept form of the equation of each fine,

83, 3x~2Zy=-16

C

Find the equation of the line through the given point with glven slnbeQ Write the ans'.-.'rer‘\'lri slope-intercept form.

86. through {1, 2); m=7

89, through {2, 1}; undefined slope

84, 18x—-1ly=-12 85. 6%+ 5y =-15

87: through (3, 1}; m=-1 88, through (-2, 5); m = -4

90, through (6, -2); m =0
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83 Foraliel to'y = 2% - 103nd passes through (4, 2. o T

@@m\\e,\ LWnes hove “Hhe sasne ,Slo?a_

porpandicubar lines hae cpoosive sign e R .
Write the equation of a line in point-slope form with the given conditions. u@b( M= "2- pe,\’pfaﬁd.t

92. Perpandicutar to y=§x+8 and passes through (-3, 7)

93, Parallel to ?m%x-—'n and passes through [0,-4)

94. Perpendicularto 2y —10=-x and passes through the point {-5, 1)

Solve gach systern by graphing. You must use the graphing calculator in order to complete these problems. Reminder,
write answers as impraper fractions (where necessary).

y=-3x+5 g6 XT¥=6 , Xty=3
- y=2x+10 ' x—y:d ) 2x-ym2
Solve each system by either substitution or elimination method.
98, y=Tu+5S 99, 5x+ 2y =22 100, 245y =2
¥ = =10 X+2¢y=14 3x-dy=3
101, x—y=9 _ 102 y=7 - 2% 103.6x+3y =0
Su+y=11 By=-3x+7 ! Bx+5y=8
104.x = 8 43y 105, 3%+ 2y = 71
2A~Sy=§ V=44 2%




Honors Geometry Algebra Review Answers

i}x=-4
x=3

3 x=1

=4
p

Slr= A
Frd

po2j
le:_z.
2

?}r= 3?&
’der

8) b1=-2~:-1—b2

8 y= #fd® i

10) m=27

11jx =36

5.2}a=-2-§3
2

7
13} = e
) 1

14)x=4,x=-1

~19
15y o e
v :

16} y > -8
17im>2

18) 49

19) 2
1g
20) °y*
21) -85Sy

X
22) mamr
6a’

2
23} —
axt

28} x* +2x~15

25) 6x° —29x+35
26) x* 16

27) 4x* 36

28) X% +18x-+81
29) 16x° ~88x+121
30) {x-7){x+7)
31} (x—8)(x+8)
32} (x=1}(x+1}
33) 4{a~3)(a+3)
34) 4{6y~5)(6y+5)
35§ {4n-9){an+9)
36) (x+4)

37) (o +5)

38) (n-1)°
38 x=7

40)x=-—3
4

4llx=

| en

4px=-7,x=5
43) x'z-lﬁ,x;-d
44)x=-12,x=4
45\ x=5,x=1

-2

46 x = ; =B

47}x=3,x=-1
48) 33

49) 443

50} 44/5

51) 3V2

52) 5410

53) >
4

32

54} ——o
)B

56) 24/3



Honors Geometry Algebra Review Answers

G

s Y2
4

58) 1345

56 45

60) 63v2

61) 342

62) x=—4++f33
63) x=222/5
64) x=—5%7

e
65) x:._f::é.‘f..l_?.

—3++f329

10

68) x=

67) x=¢ {no sokitions)

For the problems #68-78 the
graphs are on the following
pages.

68} m=1;{2,04{0,-2}

63) m=2; {-2,0} (0,4)

20) m = 255 (5,01 (0,2)
71} m=-2; G,o) 0,7

4 {8
72)m= ‘5: ("Iroj (.3}

73) m = no slope; (4,0} none

74} m = 0; none {0,-5)

-1
=3 | — ,1

75} m 3,[3 ,U‘) {0,1)

3,14 .
7e)m=; (3,0) (0,2)

3
7Tim= 2 4.0} 06)

i
78m= i {12,0) (0,8}

72 mi=

K| Ly

80) no slape
§1)m=9Q

B2)m=-6

83) y=-231x+8

-6
85}y .

86) y=7x~5

87) y=—x+4

88) y=—4x—-3
g9)x=2

90) y = -2

§1) y=2=2x~4)

92} y~7m1'§i(x+3)

93) y-!-4=-g—[x-[]]

94} y+1=2x+5)
95) {-1,8}

96} (5,1)

o[

98} (-5,-30)
99) (2,5}
100) (1,0}
101) {5,-4}
102) (4,2)
103) {-4,8)
104) {-16,-8)

105) (8,22}
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Algebra 1 Name ID: 1

Examples for Honors Geometry Summer Assignment Date Period
Solve each equation. l:?'% '__g
43/ 1 4 67 s-c—g‘?“g T Z?? 21 103 1 )24
) X+1+—=—+—x ) n——=-——+—n
52 3 48 4 6 8 24 3
) | A - - = _ ¥ BN
240+ 4B (= QT WK ZBn-Gp s iBrED
AUNAE 1B o1+ WO% —
- e 29X a0N T4
a0 a0

A5=2AoX K~ VI F - (oT* 3% - T
330 | N\ b €

_5 _%Solve each equation for the indicated variable.
4 3)§ =z_¢,‘£’ for x 4) E?i forgb\\jis N\m\*‘lpl&j
C chp’
oX = cd
< '
- s
O\r ?v—‘
Solve each equation. Remember to check for extraneous solutions.
Bb,~ 1 1 2 N8b  Le8b b Py ¢ 2P
(ﬂva‘}: " 2 t5=y )
“2 .3 -b ? y
| = b - b v A+ P = \ &
a £ -3 2
EEN 9
Solve each inequality.
N -1+2p2-8+4p-1 ‘ 8) 2b-112b6-5
=t —b b
|2 QA +2Q b-i1 2 -9
+0 _*9 ‘ 1L W
x ;Z,g b2 L

4 z p=4

zZ
Simplify. Your answer should contain only positive exponents.

-.a -
32,374 . ~-2-3 ¢ ’4}31
ni=— "3 3 =2 4] wgs - i/‘ i
’ 3 2° ﬂyﬁ}j\




13) 4px2- x'y* . 3)°
(4-22(y-y oYX *x>)
Y\z%“} _xl\' .

Find each product.

14) (4n+7)(5n + 4)

dn 1
| 20»/\@} 200+ “*QJ
4&@ 28

Factor each completely.

a\

16) b° +10b +21 2\

~3-% -l a
1) _232_; 2 S g \ 12) @) o b
| | o

1Ya) Endad

15) (81 +4) =31 +5)

-%n +4

’3n\24n '-lzn\ 740*-5Mt 2.0
5 Han JQD

17) virdy-5 :/'\

=\ «5 5 4

KBZ>(§+Mq) “a\ = 23

ST ({9

18) 2 +2r —35 é{ 19) 6x% - 12x - 18 2
A
L3 b(®-Bx =D {5
ZY’— )(V* _D & (X +0(x -2
20) 3x*-19x-40 . (3-40) (a0
-(37( -—5\‘9/6 24x% ~4o D ;\\fég
w(3%-S)42(z3x ~5) 3 4

(F+8 (3x-5)

Solve each equation by factoring.

21) n* —4n=0

N{n-4)=0

N 4=
+4 <

n=d}

Nn=0 o
Y

22) n* —6n+9=0
(h-20(n-2) = ©

nN-3%:=0 N-5%°0

2 +3 T3 €3

e T




23) V320 24) \/28
AV VRV,
Vot s VS Y -V

Wi 4:2 . X _.V3 26) 210 . —2+/20

- 803
=G

R R E PP
VR
~4- oo V2
— ~4. 0V ° m
27)£ VERP l/.\__f’_;ﬂ-é. E\zs)sx/_ 36
5v3 V3 58 93 \\5
- PV
23V

29) 36 + 354

AoV Vb
N+ 2306
- hale
Solve each equation by completing the square, j{r
5’7
30) B2~ 16b-57=0 y ’5 31) B+ 16n+48=0 2?_; 2;‘1
h o
(b- Do+ 0 VTR
=D W2 S O
b 19 9\01 b+3= 0 Ml T e
Q (n=-4 \ (=)
Find the Té‘c'if eaclf line andy mtercept
1 — 33) 2x—y=-4
=—x— =M\ *"L'b
32) y=x -4 Nz Ny C1x 2y
£
S e Y Yz

/)3—--4

3-.nwcap"



d' _ -
Sketch the graph of each linear inequality. Msyl N _g; 5%}3_:&\( B

vl Y e
39 yalpasES LA ) Gr=3y> 13 ”_EJ%L.?\M“_Q
A . L I 3 -dl Fg -5
Rl = e o e ) )
2t
. ‘ /i‘
IR R
1t %7 o\{um & (ut
2 ﬂ;’f’ .
’ b 0. negaRLL
; [}/‘ Y glpm
‘I’ S 1
Find the slope of the line through each pair of points. W\QC{UM t-ﬁi
36) (7,-5),(13,-20) =+ 5\5[“
(1-5) 5@y 5 -5
(15200 T3 - =
Solve each system by graphing. ;Qé.: __2—)5 ___}i
__1 38) 3x+2y=-4 > o &
37 y=-3% 1 3x—2y=-8 /\
cx=3 j\ F Ay/ Ldu\: '.-b-)('-%
Ay 4 ;{ o
L N R P
N o
_ bam (A1)
N 9 4—5 TR S 1 3 ﬁ—-—-—'—
T " ZEEY
S R TR R b Ay _ \ [~ R
J\‘\\ —~ 3' a -]
N — RN
¥




Solve each system by elimination.

39) 4x+7y/—11 4@.)+3’-‘—H 40) 3x -5y =3 3Ax-54 =3
—2xfy=-7 Ci(—?x—Sy:—?) —1X H._ !

2%=% Dx=10
|x21 20 I-39=3 =L

3593 G5
--‘iS\j -3 ) \..Q..{-E-))

41(5:{-—- y: 8) \0

' __Szgxil{}{l%—-?D 240 u=0
L . ) - r_S- .
Q2x=22Z \X=4 -
=7 SL\"""" """ (2]

50) ~A =& - 3
5ge Y3 e
Solve ehfc)h system I)E))'substitution.

42) 4x+y=15

EDX-(ﬂé}X‘r\S):B 4(1) Hé:\g

Y %‘r :\g
S¥F AX 5= 2 2
A 4

=2
’



